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|| UR [ RBhEE e 2R A 830, 100 830, 100 0
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2| g | BRI SR R 17,034 59, 204 —42,170
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gyl | —EXEBIMREEET (4) 5,622, 881 3,956, 047 1,666, 834
o4 B(zotoy -t EENER 850, 200 1,042,857 -192, 657
oo | AL —EXEBIERRE (5) 850, 200 1,042, 857 ~192, 657
S[H-CXEHINERESRE (6) = (4) — (5) 4,772, 681 2,913,190 1,859, 491
BEEREE (7) = (3) + (6) 35, 945, 677 58, 829, 248 —22, 883,571
| HEA RSN 0 3,366, 000 3, 366, 000
7 | Bl BT A2 0 100, 000 -100, 000
Bl| = [ssmnzsst (8) 0 3,466, 000 3, 466, 000
B |ExaEsiE-nsia 10 74,975 —74,965
| B | BB S S R AR 0 3, 366, 000 -3, 366, 000
o | B | zoftoiERlE%k 6, 460, 000 0 6, 460, 000
ap|  [#BIERET (9) 6, 460, 010 3, 440, 975 3,019, 035
HSRIEHESE (10) = (8) — (9) -6, 460, 010 25,025 6, 485, 035
BialpSEEEE RS (11) = (7) + (10) 29, 485, 667 58, 854, 273 —29, 368, 606
SENBL EERRUBER (12) 0 0 0
SENPETHERE (13) 0 0 0
LEREENERER (14) = (11) - (12) — (13) 29, 485, 667 58, 854, 273 —29, 368, 606
BRI EENERA%E (1 5) 1,179,919, 207 1,121,064, 934 58, 854, 273
MHAKIRMUEENISHEEE (16) = (14) + (15) 1,209, 404, 874 1,179, 919, 207 29, 485, 667
EASHEEE (17) 0 0 0
ZOMOIBITSEIEEEE (18) 0 0 0
ZOMOIETSIETEE (1 9) 0 0 0
REFISAMEENSEZEE (20) = (16) + (17) + (18) — (19) 1,209, 404, 874 1,179,919, 207 29, 485, 667

1/1




